LARIMER COUNTY JR LIVESTOCK SALE MAC EQUIPMENT, INC. ARENA AT THE RANCH

WEDNESDAY, AUGUST 10, 2022 4:30 P.M.

BUY BACK PRICES*

BEEF \$ 1.35/lb SWINE \$ 0.45/lb LAMBS \$ 0.80/lb GOATS \$ 1.90/lb

*Buy Back total for each animal will be listed on the Sale Bill

INFORMATION FOR BUYERS

Animals entered in this sale have been fed and raised buy 4-H members. These young people have attended a Quality Assurance Program (MQA) and have verified that their animals are drug-free. Any monetary funds they receive above their expenses can be used at their discretion. They may choose to finance future 4-H projects, to use for future education or to finance other worthwhile projects.

TERMS OF THE SALE

All purchased animals MUST be paid for at the conclusion of the sale. If this is not possible, contact a member of the Jr Livestock Sale Committee to make other arrangements. All accounts need to be settled as soon as possible in order to make payment to the 4-H youth. Acceptable payment methods are Cash, Check, or Credit Card (Visa, MasterCard, Discover or American Express). Checks should be made payable to the "Larimer County Junior Livestock Committee" (LCJLSC). If mailed, the address is 5280 Arena Circle Suite 100, Loveland, Co 80538.

This is a "TERMINAL SALE." All animals are sold for consumption and will be controlled, handled, transported, and turned over to the meat processing agent by the Junior Livestock Sale Committee. <u>Under NO circumstances, will any animal(s) be allowed to leave the Fairgrounds under control or possession of the buyer.</u>



BUYER OPTIONS

OPTION A:

<u>Buy Back:</u> The buyer bids on an animal and upon the successful bid, the buyer pays the difference between the bid price and the established price listed in the program. The animal is then sold to a packer for the market price.

For Example: Bid is \$750 for a 130 lb. lamb

Bid = \$750

Buy-Back (Market Price) = \$150

Buyer Pays = \$600 (Bid Price- Buy Back Price)

<u>Food Bank Donation</u>: As part of the buy-back option, a buyer can choose to donate the meat to the food bank. If the buyer chooses this option, the processor selected MUST be Colorado Custom Meats ONLY. This enables the Sale Committee to streamline and ensure all meat intended for the food bank, gets there. In this case, the Larimer County Food Bank will pay the processing fee.

OPTION B:

Animals may be purchased for the buyer's own personal consumption. Consider using it for employee incentives, a fund-raising activity, a picnic, or club barbecue. A list of local processors is listed in the program. Delivery to the processor will be arranged by the Livestock Sale Committee. Because of the USDA meat inspection restrictions and transportation expenses, all custom slaughter animals will be delivered to their designated destinations as indicated on the sale bill. Carcasses can be processed elsewhere at the buyer's choice, but it will be the responsibility of the buyer to make all arrangements to get the animal to the destination.

Additional Donations or Add-Ons are an easy and great way to increase the total sale price for a youth member and are really appreciated. The add-on amount gets directly credited to the total sale amount for the youth member you choose, and no bidding is necessary to participate. Additional contributions can also be made to a particular species or the overall Livestock Sale. In the essence of time the Livestock Sale Committee requests that Add-Ons are made prior to or during the sale at the designated location (form attached) in the auction area. Add-ons cannot be accepted after 14 calendar days following the sale. THE ONLY YOUTH MEMBERS ELIGIBLE FOR ADD ONS ARE THOSE THAT QUALIFY FOR THE SALE.

BUYER'S SIGNATURE

Buyers are asked to sign the purchase agreement that will be distributed immediately following the purchase. Please indicate if the animal is for "resale/buyback" or "custom processing". As indicated, processing arrangements should be made PRIOR to leaving the sale on custom slaughtered animals. Make sure you list the site where you wish your custom slaughter animal to be processed on the purchase agreement and complete the cutting instructions.

PROCESSOR OPTIONS PRICES

Colorado Custom Meats** 443 4th Street, Kersey, CO (970) 356-2333

Beef: Slaughter Fee: \$ 100.00 Processing Fee: \$ 0.99/lb & Patties: \$ 0.50/lb

Hog: Slaughter Fee: \$ 75.00 Processing Fee: \$ 0.99/lb & \$1.99/lb Sausage Links

Lamb/Goat: Slaughter and Processing Fee: \$ 120.00

Double J Meat Packing 44726 Main Street, Pierce, CO (970) 483-7885

Beef: Slaughter Fee: \$ 100.00 Processing Fee: \$ 0.99/lb

Your Choice Meats, LLC 18935 County Road 2, Wiggins, CO (970) 483-7785

Beef: Slaughter Fee: \$ 100.00 Processing Fee: \$ 0.99/lb Hog: Slaughter Fee: \$ 75.00 Processing Fee: \$ 0.99/lb &

\$1.25/lb Cured Meat & Sausage

Lamb/Goat: Slaughter and Processing Fee: \$ 120.00

Valley Packing & Catering 705 1st Ave, LaSalle, CO (970) 284-5589

Beef: Slaughter Fee: \$ 120.00 Processing Fee: \$ 0.99/lb & Patties: \$ 0.50/lb

R & C Processing 2520 West CR 60E, Fort Collins, CO (970) 284-5589

Beef: Slaughter Fee: \$ 100.00 Processing Fee: \$ 0.99/lb

Hog: Slaughter Fee: \$ 50.00 Processing Fee: \$ 150.00 & \$ 1.50/lb Cured Meat

Lamb/Goat: Slaughter and Processing Fee: \$150.00

Atlas Meats** 4020 John Deere Dr, Fort Collins, CO (970) 224-9210

Beef: Slaughter Fee: \$ 100.00 Processing Fee: \$ 0.99/lb & Patties: \$ 0.75/lb

Hog: Slaughter Fee: \$ 350.00**

Lamb/Goat: Slaughter and Processing Fee: \$ 130.00

** Please feel free to make arrangements with another processor to have your meat cured at your convenience. The Sale Committee will not be responsible for picking up and delivering to a secondary processor for curing. Curing is available for additional cost through R&C Processing.

It is the buyer's responsibility to make arrangements with R&C. Ham and Bacon need to be left whole upon delivery to R&C.

Due to processor limitations, once a processor is selected you may not change to another one. Failure to complete a cut sheet within 12 hours after the conclusion of the sale for each purchase, will result in your animal being processed in Standard Cut for a Family of four (4).

^{**}No curing available through Colorado Custom Meats. See note below for additional options.

^{**}No curing available through Atlas Meats. See note below for additional options.

A SUCCESSFUL JUNIOR LIVESTOCK SALE INVOLVES THE WHOLE COMMUNITY!

LARIMER COUNTY FAIR JUNIOR LIVESTOCK SALE COMMITTEE

Executive Committee

Doug Pennock, Chair
Stephanie Morrison, Vice Chair
Caree Rinebarger, Secretary & Treasurer
Smokey Crego
Don McGregor
Keri McGregor
Amber Spence
Russ Spence
Angela Tuxhorn

2021 Livestock Sale Sponsors

Diamond

Independent Financial A Concrete Loveland Ford

Platinum_

4 Rivers Equipment
Colorado West Insurance
Horizon Mechanical Solutions
Jim's Wings
Maxey Trailers
Women's Clinic of NOCO

Gold

Farmers Bank
Lundstedt Automotive, Inc
Martin Marietta
Points West Community Bank
West Plains

Silver

Aspyn Grading
BSH Insurance Agency
Kreps Wiedeman
Shippers Supply Inc
AGOPROfessionals
The Federal Savings Bank
Houska Automotive
JD Heiskell
Markley Motors
Pete Lien and Sons

2021 Junior Livestock Sale-Top Ten Buyers

4 Rivers Equipment
A Concrete
Loveland Ford Lincoln
Anadarko Petroleum Corporation
J. Allen Equipment
Mountain View Farm
Mountain Vet Supply
Q.T. Mechanical

A special Thank You to the following for their assistance with this year's Junior Livestock Sale

Independent Financial
CSU Meat Science Department
Spectra Food Service
Jim's Wings
Colorado Carriage and Wagon
Centennial Livestock Auction
Construction Supply House
Maxey Trailer Sales
Thompson Valley FFA Chapter
Larimer County Fair Board
CSU Extension Office- Larimer County
D&K Trucking
M&M Farms

A special Thank You To all the buyers, sponsors, and financial supporters for the contributions made in 2021. It was deeply appreciated to help make a challenging year for our exhibitors, a successful year. The sale committee wants to thank you for your support of the 4-H youth, our future leaders.

AND A BIG THANKS TO ALL OF THE VOLUNTEERS WHO WORKED TO MAKE THE 2021 LARIMER COUNTY FAIR JUNIOR LIVESTOCK SALE A HUGE SUCCESS.

Larimer County Junior Livestock Sale Record Buyer Add-On

Add-Ons are a great way to increase the total sale price for an individual exhibitor. Additional donations can be added to any exhibitor during the Junior Livestock Sale. If you would like to Add-On to an exhibitor, please fill out the form below and submit prior to close out the night of the Sale.

Buyer Name:		Bidder #:	
Buyer Address:			
Buyer Phone:			
Buyer Email:			
Exhibitor Name	Sale No.	Species	Add-On Amount
		Total Add-On	\$

Date: _____

Buyer Signature___

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
1	Krier, Rosella Market Goat - Show Class 6	Desperados 4-H Club Elizabeth & Brad Krier Loveland	10th	1415	80.00	1.900	152.00000	
2	Cordova, Shyann Market Goat - Show Class 5	Cinch 'Em Up 4-H Club Tara & Gabreil Cordova Fort Collins	9th	1388	78.00	1.900	148.20000	
	Hilgenberg, Gracie Market Goat - Show Class 9	Owl Canyon Critters 4-H Club Nancy & Steve Hilgenberg Wellington	8th	1392	91.00	1.900	172.90000	
. /	Dyer, Kaidence Market Goat - Show Class 8	Spirit of the Poudre 4-H Club Cindy & David Dyer Wellington	7th	1410	88.00	1.900	167.20000	
5	Wolf, Elinore Market Goat - Show Class 11	Owl Canyon Vaqueros 4-H Club Jennifer & Grant Wolf Laporte	5th	1333	102.00	1.900	193.80000	
L 6	Bennett, Kyrah Market Goat - Show Class 2	Rocky Ridge 4-H Club Melissa & Devin Bennett Wellington	5th	1402	68.00	1.900	129.20000	
/	Moore, Josiah Market Goat - Show Class 2	Rocky Ridge 4-H Club Tim & Michelle Moore Wellington	4th	1386	69.00	1.900	131.10000	
8	Loos, Josie Market Swine	Sagebrush Riders 4-H Club Carrie & Randy Loos Berthoud	11th	784	245.00	0.450	110.25000	
9	Purman, Garrett Market Swine	Valley Vaqueros 4-H Club Kari Purman Berthoud	10th	763	265.00	0.450	119.25000	
1 ()	Gazdik, Miles Market Swine	Sagebrush Riders 4-H Club Lydia & Nate Gazdik Berthoud	10th	791	271.00	0.450	121.95000	
1 11	Golden, Charlotte Market Swine	Livermore Wranglers 4-H Club Josh & Jenna Golden Livermore	9th	684	251.00	0.450	112.95000	
1 17	Sailer, Bryce Market Swine	Desperados 4-H Club Jennifer & Neil Sailer Loveland	9th	703	253.00	0.450	113.85000	
1 13	McCrimmon, Jessie Market Swine	High Country Handiworkers 4-H Club Christopher & Erin McCrimmon Loveland	9th	652	264.00	0.450	118.80000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
14	Sailer, Hayden Market Swine	Desperados 4-H Club Dwight & Dana Sailer Loveland	9th	701	267.00	0.450	120.15000	
1 15	Moore, Lela Market Swine	Rocky Ridge 4-H Club Daniel & Amanda Moore Wellington	9th	725	246.00	0.450	110.70000	
1 16	Barrett, Carson Market Swine	Owl Canyon Critters 4-H Club Sarah & Frank Barrett Fort Collins	8th	627	272.00	0.450	122.40000	
1 1/	McNeal, Conor Market Swine	Sagebrush Riders 4-H Club Mary McNeal & Dustin Sellmer Berthoud	8th	804	247.00	0.450	111.15000	
1 18	Maxwell, Conor Market Swine	Desperados 4-H Club Andrea Maxwell Berthoud	8th	714	243.00	0.450	109.35000	
19	Krom, Hailey Market Swine	Natalie & Ace Krom Wellington	8th	676	246.00	0.450	110.70000	
20	Loos, Lyla Market Swine	Sagebrush Riders 4-H Club carrie & randall loos Berthoud	8th	783	224.00	0.450	100.80000	
1 71	Grubesic, Taylor Market Swine	High Altitude 4-H Club Kristin & Peter Grubesic Loveland	8th	661	269.00	0.450	121.05000	
1))	Sargsyan, Tigran Market Swine	High Country Handiworkers 4-H Club Bethany Grosser & Khachatur Sargsyan Berthoud	7th	716	260.00	0.450	117.00000	
23	Jensen, Reed Market Swine	Wagon Wheel 4-H Club Denise & Ted Jensen Wellington	7th	775	258.00	0.450	116.10000	
1 //	Moore, Luke Market Swine	Rocky Ridge 4-H Club Daniel & Amanda Moore Wellington	7th	722	266.00	0.450	119.70000	
75	Gardner, Hagen Market Swine	Cinch 'Em Up 4-H Club Angela & Floyd Gardner LaPorte	7th	865	233.00	0.450	104.85000	
1 /6	Hummel, Rowan Market Swine	High Country Handiworkers 4-H Club Valley & Caitlin Hummel Berthoud	7th	654	239.00	0.450	107.55000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
27	Clark, Justin Market Swine	North Forty 4-H Club Cassie & Bryan Clark Fort Collins	7th	739	255.00	0.450	114.75000	
28	Schaefer, Aiden Market Steer - Show Class 7	Sagebrush Riders 4-H Club Jenna & Ryan Schaefer Berthoud	8th	66	1351.00	1.350	1823.85000	
29	Texeira, Emily Market Steer - Show Class 7	Desperados 4-H Club Tyler & Christy Texeira Fort Collins	7th	36	1316.00	1.350	1776.60000	
1 3()	Humpal, Patrick Market Steer - Show Class 1	Friendly Few 4-H Club Jason & Linda Humpal Fort Collins	6th	2	1099.00	1.350	1483.65000	
1 41	Morse-VanValkenburg , Austin Market Steer - Show Class 5	Berthoud Highlanders 4-H Club Candie Jones Johnstown	5th	53	1257.00	1.350	1696.95000	
32	Riedlinger, Ryan Market Steer - Show Class 2	North Forty 4-H Club Karen & Reid Riedlinger Wellington	5th	50	1156.00	1.350	1560.60000	
1 44	Riedlinger, Kellen Market Steer - Show Class 7	North Forty 4-H Club Karen & Reid Riedlinger Wellington	5th	51	1346.00	1.350	1817.10000	
34	Enns, Wyatt Market Steer - Show Class 6	North Forty 4-H Club Kellie & Mark Enns Nunn	4th	23	1272.00	1.350	1717.20000	
35	Morse-VanValkenburg , Grace Market Steer - Show Class 4	Berthoud Highlanders 4-H Club Candie & Shane Jones Johnstown	4th	54	1214.00	1.350	1638.90000	
36	Bernhardt, Lane Market Steer - Show Class 1	Friendly Few 4-H Club Amy & Matt Bernhardt Berthoud	4th	7	1137.00	1.350	1534.95000	
1 4/	Santistevan, Elena Market Steer - Show Class 2	High Altitude 4-H Club Darren & Vanessa Santistevan Fort Collins	4th	81	1170.00	1.350	1579.50000	
1 32	Schnell, Kole Market Lambs - Show Class 10	Sagebrush Riders 4-H Club Kyle & Megan Schnell Berthoud	11th	292	139.00	0.800	111.20000	
1 20	Ledingham, Katelyn Market Lambs - Show Class 6	Wagon Wheel 4-H Club Alyssa & John Ledingham Carr	9th	267	127.00	0.800	101.60000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
40	Richardson, Evan Market Lambs - Show Class 6	Owl Canyon Critters 4-H Club Amber & Jeff Richardson Wellington	8th	287	124.00	0.800	99.20000	
41	Johnson, George Market Lambs - Show Class 12	Owl Canyon Critters 4-H Club Robin & Craig Johnson Wellington	7th	344	151.00	0.800	120.80000	
42	Brown, Kaitlyn Grace Market Lambs - Show Class 10	North Forty 4-H Club Mindy Story & David Brown Fort Collins	7th	283	140.00	0.800	112.00000	
43	Fisher, John Market Lambs - Show Class 12	Harmony Hustlers 4-H Club Melissa & Craig Fisher Wellington	6th	327	151.00	0.800	120.80000	
44	Crego, Lander Market Lambs - Show Class 10	Friendly Few 4-H Club Valerie & Smokey Crego Wellington	6th	244	141.00	0.800	112.80000	
45	Tracy, Lydia Market Lambs - Show Class 5	Owl Canyon Vaqueros 4-H Club April & Eric Tracy Wellington	6th	251	121.00	0.800	96.80000	
46	Hardley, Colter Market Lambs - Show Class 6	Buckeye Buck 'n Ears 4-H Club Angie & William Hardley Wellington	6th	368	125.00	0.800	100.00000	
47	Jungen, Zander Market Lambs - Show Class 11	North Forty 4-H Club Patty Kummrow Fort Collins	5th	280	146.00	0.800	116.80000	
48	Kitchen, Ty Market Lambs - Show Class 6	Berthoud Highlanders 4-H Club Melissa & Tom Kitchen Greeley	5th	308	125.00	0.800	100.00000	
49	Farago, Gracelynn Market Goat - Show Class 11	Soaring Eagles 4-H Club DeeDee & Paul Farago Loveland	4th	1390	98.00	1.900	186.20000	
50	Bennett, Kaden Market Goat - Show Class 4	Rocky Ridge 4-H Club Melissa & Devin Bennett Wellington	3rd	1399	75.00	1.900	142.50000	
51	Schlagel, Catherine Market Goat - Show Class 6	Berthoud Highlanders 4-H Club Bruce & Jennifer Schlagel Berthoud	3rd	1378	81.00	1.900	153.90000	
52	Conlon, Jennifer Market Goat - Show Class 2	Berthoud Highlanders 4-H Club Kevin & Erin Conlon Berthoud	3rd	1337	67.00	1.900	127.30000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
53	Conlon, Kelly Market Goat - Show Class 1	Berthoud Highlanders 4-H Club Kevin & Erin Conlon Berthoud	2nd	1334	63.00	1.900	119.70000	
54	Thode, Brielle Market Goat - Show Class 11	Livermore Wranglers 4-H Club Adam & Erica Thode Livermore	1st	1352	98.00	1.900	186.20000	
1 55	Ryan, Joshua Market Goat - Show Class 4	High Country Handiworkers 4-H Club Rob & Lisa Ryan Loveland	1st	1404	77.00	1.900	146.30000	
56	Gronenthal, Wyatt Market Swine	Sagebrush Riders 4-H Club Kyle Gronenthal Berthoud	6th	797	243.00	0.450	109.35000	
57	Loos, Wyatt Market Swine	Sagebrush Riders 4-H Club Carrie & Randall Loos Berthoud	6th	782	258.00	0.450	116.10000	
I 5X	Parker, Darrel Market Swine	Cinch 'Em Up 4-H Club Brandi Jewett & Vickie Ackerman Fort Collins	6th	643	246.00	0.450	110.70000	
1 59	Ryan, Abygail Market Swine	Cinch 'Em Up 4-H Club Brandi Jewett & Vickie Ackerman Fort Collins	6th	641	266.00	0.450	119.70000	
1 60	Hershman, Garrett Market Swine	Berthoud Highlanders 4-H Club Brian & Kira Hershman Berthoud	6th	832	239.00	0.450	107.55000	
ı bı	Gardner, Rylan Market Swine	Cinch 'Em Up 4-H Club Angela & Floyd Gardner Laporte	5th	869	274.00	0.450	123.30000	
1 62	Rusch, Levi Market Swine	Sagebrush Riders 4-H Club Laressa Branson Loveland	5th	786	235.00	0.450	105.75000	
I h-	Story, Cope Market Swine	Wagon Wheel 4-H Club Brandi & Jeff Story Wellington	3rd	603	230.00	0.450	103.50000	
64	Foley, Luke Market Swine	Berthoud Highlanders 4-H Club John & Suzanne Foley Berthoud	3rd	819	248.00	0.450	111.60000	
1 65	Clark, Heath Market Swine	North Forty 4-H Club Cassie & Bryan Clark Fort Collins	3rd	738	252.00	0.450	113.40000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price /	Floor Price	Buyers
l hh	May, Alec Market Swine	Livermore Wranglers 4-H Club Shiloh & Justin May Fort Collins	3rd	680	245.00	0.450	110.25000	
67	Shearer, Liam Market Swine	Rocky Ridge 4-H Club Amber & Ryan Shearer Fort Collins	3rd	842	243.00	0.450	109.35000	
l hx	McGregor, Riley Market Swine	NOCO Cowboys 4-H Club Don & Keri McGregor Carr	2nd	666	242.00	0.450	108.90000	
69	McGregor, Faith Market Swine	NOCO Cowboys 4-H Club Don & Keri McGregor Carr	2nd	663	272.00	0.450	122.40000	
70	Van Cleave, Brody Market Swine	North Forty 4-H Club Jennifer & Jason Van Cleave Fort Collins	2nd	741	275.00	0.450	123.75000	
71	Bopp, Bailee Market Swine	Berthoud Highlanders 4-H Club Jonathan & Biz Bopp Loveland	2nd, Medium Weight Division Reserve Champion	828	256.00	0.450	115.20000	
17	McGregor, Khylah Market Swine	NOCO Cowboys 4-H Club Don & Keri McGregor Carr	2nd	669	260.00	0.450	117.00000	
. /≺	Spanel, Zoey Market Swine	Rocky Mountain Light 4-H Club KORRIE & JOE SPANEL Wellington	2nd	845	232.00	0.450	104.40000	
/4	Brown, Bretton Market Swine	Sagebrush Riders 4-H Club Matt & Jenny Brown Berthoud	1st, Medium Weight Division Champion	802	248.00	0.450	111.60000	
/5	Koch, Trevor Market Swine	Valley Vaqueros 4-H Club Tracy & Tom Koch Loveland	1st	613	256.00	0.450	115.20000	
I /h	Hopkins, Brady Market Swine	Twin Mounds 4-H Club Brent & Jennifer Hopkins La Salle	1st	760	273.00	0.450	122.85000	
77	Starck, Wyatt Market Steer - Show Class 3	Sagebrush Riders 4-H Club Brian & Lorretta Starck Longmont	4th	47	1197.00	1.350	1615.95000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
78	Anderson, Kaylee Market Heifer - Show Class 2	North Forty 4-H Club Heidi & Russ Anderson Fort Collins	4th	13	1161.00	1.350	1567.35000	
79	Brittan, Morgan Market Steer - Show Class 7	Berthoud Highlanders 4-H Club Cami & Lance Brittan Severance	3rd	39	1342.00	1.350	1811.70000	
80	Anderson, Levi Market Steer - Show Class 6	North Forty 4-H Club Russ & Heidi Anderson Fort Collins	3rd	15	1286.00	1.350	1736.10000	
81	Schweitzer, Whitley Market Steer - Show Class 2	Wagon Wheel 4-H Club Tracy & Jon Schweitzer Wellington	2nd, Light Weight Division Reserve Champion	77	1154.00	1.350	1557.90000	
82	Garrison, Levi Market Heifer - Show Class 2	North Forty 4-H Club Kathy & Tyler Garrison Fort Collins	2nd	70	1159.00	1.350	1564.65000	
83	Newby, Delaney Market Steer - Show Class 3	Berthoud Highlanders 4-H Club Wesley & Tracey Newby Loveland	1st	68	1192.00	1.350	1609.20000	
84	Jefferson, Jacob Market Steer - Show Class 4	North Forty 4-H Club April & Donne Jefferson Carr	1st	11	1206.00	1.350	1628.10000	
I X5	Rice, TJ Market Steer - Show Class 2	Rawhiders 2 4-H Club Tammy & Jim Rice Fort Collins	1st, Light Weight Division Champion	30	1163.00	1.350	1570.05000	
86	Dunham, Trinity Market Steer - Show Class 9	High Country Handiworkers 4-H Club Dawn & Denim Dunham Loveland	1st, Heavy Weight Division Championn	46	1408.00	1.350	1900.80000	
87	Newby, Andrea Market Steer - Show Class 5	Berthoud Highlanders 4-H Club Wesley & Tracey Newby Loveland	1st, Medium Weight Division Champion	69	1240.00	1.350	1674.00000	
ı xx	Lacy, Josiah Market Lambs - Show Class 2	North Forty 4-H Club Charla & Matthew Lacy Fort Collins	5th	356	114.00	0.800	91.20000	
89	Johnson, Benjamin Market Lambs - Show Class 15	Owl Canyon Critters 4-H Club Robin & Craig Johnson Wellington	5th	342	156.00	0.800	124.80000	
ı an	Kitchen, Truett Market Lambs - Show Class 2	Berthoud Highlanders 4-H Club Melissa & Tom Kitchen Greeley	4th	313	110.00	0.800	88.00000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
91	Dale, Alana Market Lambs - Show Class 14	Friendly Few 4-H Club Hope Dale Fort Collins	4th	318	152.00	0.800	121.60000	
92	Blum, Moriah Market Lambs - Show Class 1	North Forty 4-H Club Andrew & Judi Blum Fort Collins	4th	352	108.00	0.800	86.40000	
uz	Brown, Alessandra Market Lambs - Show Class 14	Livermore Wranglers 4-H Club Victoria Seavey & Ben Brown Livermore	3rd	273	154.00	0.800	123.20000	
9/1	Dawdy, Royce Market Lambs - Show Class 5	Creative Hands & Hearts 4-H Club Elisa & Russell Dawdy Fort Collins	3rd	257	122.00	0.800	97.60000	
95	Armstrong, Ivey Market Lambs - Show Class 15	Desperados 4-H Club Sommer Armstrong Johnstown	3rd	306	155.00	0.800	124.00000	
96	Wotowey, Sydney Kate Market Lambs - Show Class 3	Berthoud Highlanders 4-H Club Tracie Douglas Fort Collins	2nd, Light Weight Division Reserve Champion	247	119.00	0.800	95.20000	
1 9/	Brown, Abigail Market Lambs - Show Class 14	Livermore Wranglers 4-H Club Tori Seavey & Ben Brown Livermore	2nd	272	152.00	0.800	121.60000	
98	Ostermiller, Savanah Market Lambs - Show Class 12	Friendly Few 4-H Club Marie & David Ostermiller Platteville	1st	311	150.00	0.800	120.00000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
99	Overall Grand Champion	Berthoud Highlanders 4-H Club John & Suzanne Foley Berthoud	OVERALL GRAND CHAMPION	1383	90.00	1.900	171.00000	
100	Overall Reserve Grand	Desperados 4-H Club Randy & Merri Hocker Loveland	OVERALL RESERVE GRAND CHAMPION	1425	95.00	1.900	180.50000	
101	Delmore, Tessa Market Lambs - Show Class 10 Overall Grand Champion (Trophy/Rosette/Belt Buckle/Banner)	North Forty 4-H Club Lynn & Bobby Delmore Wellington	OVERALL GRAND CHAMPION	278	140.00	0.800	112.00000	
1 102	(Overall Reserve Grand	Berthoud Highlanders 4-H Club Paula & John Prebish Loveland	OVERALL RESERVE GRAND CHAMPION	339	149.00	0.800	119.20000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
103	Champion, Overall Grand Champion	North Forty 4-H Club Mike & Jerie Schwab Fort Collins	OVERALL GRAND CHAMPION	746	277.00	0.450	124.65000	
104	Overall Reserve Grand Champion	Berthoud Highlanders 4-H Club John & Suzanne Foley Berthoud	OVERALL RESERVE GRAND CHAMPION	821	283.00	0.450	127.35000	
105	Overall Grand Champion	Berthoud Highlanders 4-H Club Brian Williams Fort Collins	OVERALL GRAND CHAMPION	31	1343.00	1.350	1813.05000	
106	Greiman, Delaynie Market Steer - Show Class 8 Overall Reserve Grand Champion (Trophy/Rosette/Belt Buckle/Banner)	North Forty 4-H Club Teri & Chad Greiman Wellington	OVERALL RESERVE GRAND CHAMPION	71	1363.00	1.350	1840.05000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
107	Hoggan, Alexander Market Goat - Show Class 9	North Forty 4-H Club Lisa & Zach Hoggan Wellington	4th	1319	90.00	1.900	171.00000	
108	Hoggan, Makenzie Market Goat - Show Class 10	Wagon Wheel 4-H Club Lisa & Zach Hoggan Wellington	5th	1327	94.00	1.900	178.60000	
109	Hoggan, Morgan Market Goat - Show Class 5	North Forty 4-H Club Lisa & Zach Hoggan Wellington	8th	1316	79.00	1.900	150.10000	
110	Hardle, Kanyon Market Goat - Show Class 7	North Forty 4-H Club Stephanie & Trev Hardle Wellington	1st	1374	85.00	1.900	161.50000	
111	Ruder, Jordan Market Goat - Show Class 12	Boedecker Bunch 4-H Club Marisa & Matt Ruder Loveland	3rd	1434	104.00	1.900	197.60000	
112	Crego, Ruby Market Goat - Show Class 10	Friendly Few 4-H Club Valerie & Smokey Crego Wellington	3rd	1305	93.00	1.900	176.70000	
113	Thode, Parker Market Goat - Show Class 5	Livermore Wranglers 4-H Club Erica & Adam Thode Livermore	3rd	1347	78.00	1.900	148.20000	
114	Thode, Adelaide Market Goat - Show Class 8	Livermore Wranglers 4-H Club Erica & Adam Thode Livermore	4th	1350	88.00	1.900	167.20000	
115	Derby, Sierra Market Goat - Show Class 10	Owl Canyon Critters 4-H Club Kassidy Lock & Joe Wootton Laporte	4th	1376	94.00	1.900	178.60000	
116	Martin, Hagen Market Goat - Show Class 1	Owl Canyon Critters 4-H Club Aspen Spence & Dakota Martin Wellington	5th	1430	59.00	1.900	112.10000	
117	Wilcox, Bailey Market Goat - Show Class 12	Cinch 'Em Up 4-H Club Teresa & Russell Wilcox Wellington	5th	1302	113.00	1.900	214.70000	
118	McGregor, Paige Market Swine	NOCO Cowboys 4-H Club Donald & Keri McGregor Carr	1st	672	235.00	0.450	105.75000	
1 114	Shearer, Tate Market Swine	Rocky Ridge 4-H Club Amber & Ryan Shearer Fort Collins	1st	839	240.00	0.450	108.00000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
1 170	Kisner, Cyle Market Swine	Cinch 'Em Up 4-H Club Tanya & Derek Kisner Wellington	2nd	636	264.00	0.450	118.80000	
121	Owen, Cambryn Market Swine	Valley Vaqueros 4-H Club Cecilia & Les Owen Berthoud	2nd	675	245.00	0.450	110.25000	
1 1//	Livingston, Maggie Market Swine	High Altitude 4-H Club Jenny & Josh Livingston Eaton	2nd	605	243.00	0.450	109.35000	
1 1/3	Lacy, Lily Market Swine	North Forty 4-H Club Charla & Matt Lacy Fort Collins	3rd	750	278.00	0.450	125.10000	
1 1 1/1	Livingston, Landen Market Swine	High Altitude 4-H Club Jenny & Josh Livingston Eaton	3rd	608	236.00	0.450	106.20000	
1 1/5	Uthmann, Jace Market Swine	Livermore Wranglers 4-H Club Nicole & Chad Uthmann Fort Collins	3rd	681	260.00	0.450	117.00000	
126	Prince-Schwab, Naomee Market Swine	North Forty 4-H Club Mike & Jerie Schwab Fort Collins	3rd	753	274.00	0.450	123.30000	
1 1 / /	Swyers, Peyton Market Swine	North Forty 4-H Club Kelcey & Jonathan Swyers Wellington	4th	647	275.00	0.450	123.75000	
128	Owen , Caidyn Market Swine	Valley Vaqueros 4-H Club Cecilia & Les Owen Berthoud	4th	618	252.00	0.450	113.40000	
1 179	Armstrong, Hunter Market Swine	Desperados 4-H Club Sommer Armstrong Johnstown	4th	708	257.00	0.450	115.65000	
1 130	Sargsyan, Ari Market Swine	High Country Handiworkers 4-H Club Bethany Grosser & Khachatur Sargysan Berthoud	4th	735	224.00	0.450	100.80000	
1 131	Van Cleave, Grace Market Swine	North Forty 4-H Club Jennifer & Jason Van Cleave Fort Collins	4th	733	278.00	0.450	125.10000	
1 1 2 1	Sutter, Byron Market Swine	Sagebrush Riders 4-H Club Katie & Bill Sutter Berthoud	4th	776	271.00	0.450	121.95000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
144	Allen, Colten Market Swine	Livermore Wranglers 4-H Club Eric & April Allen Fort Collins	4th	694	241.00	0.450	108.45000	
1 ⊀Δ	Gindl, Braxton Market Swine	Desperados 4-H Club Josh Gindl Loveland	4th	706	260.00	0.450	117.00000	
135	Killough , Georgia Market Swine	Livermore Wranglers 4-H Club Lindsay & Levi Killough Wellington	4th	690	243.00	0.450	109.35000	
136	Starck, Hesston Market Swine	Sagebrush Riders 4-H Club Matthew & Alison Starck Johnstown	5th	809	258.00	0.450	116.10000	
13/	McFann, Aiden Market Swine	Desperados 4-H Club Mark & Denise McFann Fort Collins	5th	705	259.00	0.450	116.55000	
1 4 X	Quick, Lexi Market Steer - Show Class 6	Berthoud Highlanders 4-H Club Mande Quick Berthoud	1st, Medium Weight Division Reserve Champion	21	1291.00	1.350	1742.85000	
139	Greiman, Destrie Market Heifer - Show Class 3	North Forty 4-H Club Teri & Chad Greiman Wellington	1st, Market Heifer Division Reserve Champion	72	1188.00	1.350	1603.80000	
140	Jones, Korbyn Market Steer - Show Class 10	Sagebrush Riders 4-H Club Kevin & Jessica Jones Berthoud	1st, Heavy Weight Division Reserve Champion	35	1518.00	1.350	1957.50000	
1/11	Schnell, Julia Market Steer - Show Class 1	Sagebrush Riders 4-H Club Megan & Kyle Schnell Berthoud	1st	12	1131.00	1.350	1526.85000	
14)	Shreve, Brody Market Steer - Show Class 10	Wagon Wheel 4-H Club Shannon & Brett Shreve Carr	2nd	1	1518.00	1.350	1957.50000	
143	Rusch, Laramie Jane Market Steer - Show Class 3	Sagebrush Riders 4-H Club Laressa Branson & Joey Rusch Loveland	2nd	79	1177.00	1.350	1588.95000	
1/1/1	Schweitzer, Kade Market Steer - Show Class 6	Wagon Wheel 4-H Club Tracy & Jon Schweitzer Wellington	2nd	73	1270.00	1.350	1714.50000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
145	Tuxhorn, Casey Market Steer - Show Class 5	Valley Vaqueros 4-H Club Angela & Ron Tuxhorn Loveland	2nd	62	1255.00	1.350	1694.25000	
146	Kraft, Tyler Market Steer - Show Class 1	North Forty 4-H Club Jason & Cheri Kraft Fort Collins	2nd	14	1141.00	1.350	1540.35000	
14/	Johnson, Aiden Market Heifer - Show Class 1	Berthoud Highlanders 4-H Club Mark & Andrea Johnson Mead	2nd	58	1099.00	1.350	1483.65000	
148	Torres-Vasquez, Cesar Market Steer - Show Class 9	North Forty 4-H Club Lupe Torres Fort Collins	2nd	17	1447.00	1.350	1953.45000	
149	Thode, Caroline Market Steer - Show Class 4	Livermore Wranglers 4-H Club Mildred & Zach Thode Livermore	2nd	64	1212.00	1.350	1636.20000	
150	Pfeiff, Jaxson Market Steer - Show Class 5	Friendly Few 4-H Club Chandra Pfeiff Mead	3rd	8	1253.00	1.350	1691.55000	
151	Crego, Hadley Market Lambs - Show Class 3	North Forty 4-H Club Sarah & Joaquin Crego Wellington	1st, Light Weight Division Champion	297	117.00	0.800	93.60000	
152	Crego, Daiton Market Lambs - Show Class 15 Reserve Champion	Friendly Few 4-H Club Smokey & Valerie Crego Wellington	1st, Heavy Weight Division Reserve Champion	240	157.00	0.800	125.60000	
152	Fisher, Megan Market Lambs - Show Class 15	Harmony Hustlers 4-H Club Melissa & Craig Fisher Wellington	2nd	323	170.00	0.800	136.00000	
154	Hocker, Sydney Market Lambs - Show Class 10	Desperados 4-H Club Randy & Merri Hocker Loveland	2nd	358	143.00	0.800	114.40000	
155	DeLucero, Hayden Market Lambs - Show Class 11	Berthoud Highlanders 4-H Club Jill & Kyle DeLucero Fort Collins	2nd	303	149.00	0.800	119.20000	
156	Prebish, Tanner Market Lambs - Show Class 10	Berthoud Highlanders 4-H Club Paula & John Prebish Loveland	3rd	335	138.00	0.800	110.40000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price /	Floor Price	Buyers
157	Bachman, Gavin Market Lambs - Show Class 2	Berthoud Highlanders 4-H Club Jake & Amy Bachman Johnstown	3rd	291	112.00	0.800	89.60000	
158	Croft, Riley Market Lambs - Show Class 1	Twin Mounds 4-H Club Karen & Brian Croft Berthoud	3rd	261	104.00	0.800	83.20000	
159	Stirewalt, Millie Market Lambs - Show Class 12	Sagebrush Riders 4-H Club Paula & Patrick Stirewalt Platteville	4th	252	151.00	0.800	120.80000	
160	Crego, Kamdyn Market Lambs - Show Class 7	North Forty 4-H Club Sarah & Joaquin Crego Wellington	4th	301	131.00	0.800	104.80000	
161	Crego, Chalena Market Goat - Show Class 12	Friendly Few 4-H Club Valerie & Smokey Crego Wellington	6th	1304	104.00	1.900	197.60000	
162	McEvoy, Kylee Market Goat - Show Class 4	High Altitude 4-H Club Lindsey & Seth McEvoy Windsor	6th	1387	75.00	1.900	142.50000	
163	Barker, Brayden Market Goat - Show Class 3	Owl Canyon Critters 4-H Club Ashlin & David Barker Fort Collins	7th	1426	73.00	1.900	138.70000	
164	Hilgenberg, Jeremiah Market Goat - Show Class 11	Owl Canyon Critters 4-H Club Nancy Hilgenberg Wellington	7th	1395	97.00	1.900	184.30000	
165	Copeland, Eden Market Goat - Show Class 7	High Country Handiworkers 4-H Club Hanna & Alan Copeland Loveland	8th	1363	83.00	1.900	157.70000	
166	Copeland, Morgan Market Goat - Show Class 3	High Country Handiworkers 4-H Club Hanna & Alan Copeland Loveland	8th	1356	74.00	1.900	140.60000	
I Ih/	Wolf, Lily Market Goat - Show Class 4	Owl Canyon Vaqueros 4-H Club Jennifer & Grant Wolf Laporte	8th	1332	75.00	1.900	142.50000	
168	Moore, Daniel Market Goat - Show Class 8	Rocky Ridge 4-H Club Tim & Michelle Moore Wellington	9th	1385	88.00	1.900	167.20000	
1 164	Dyer, Landyn Market Goat - Show Class 3	Spirit of the Poudre 4-H Club Cindy & David Dyer Wellington	9th	1411	71.00	1.900	134.90000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price /	Floor Price	Buyers
1 170	Brown, Lane Market Swine	Sagebrush Riders 4-H Club Matt & Jennifer Brown Berthoud	5th	810	263.00	0.450	118.35000	
1 171	Moore, Brooke Market Swine	Rocky Ridge 4-H Club Daniel & Amanda Moore Wellington	5th	720	252.00	0.450	113.40000	
1 1//	Barrett, Emily Market Swine	Owl Canyon Critters 4-H Club Sarah & Frank Barrett Fort Collins	5th	628	273.00	0.450	122.85000	
173	Johnstone, Carson Market Swine	Sagebrush Riders 4-H Club Britany & Matt Johnstone Berthoud	5th	779	228.00	0.450	102.60000	
1 1/4	Smith, Josie Market Swine	Berthoud Highlanders 4-H Club Carrie & D Scott Smith Berthoud	6th	815	273.00	0.450	122.85000	
1 1/5	McEvoy, Kyson Market Swine	High Altitude 4-H Club Lindsey & Seth McEvoy Windsor	6th	607	246.00	0.450	110.70000	
1 1/h	Smith, Hannah Market Swine	Desperados 4-H Club Devon & Danielle Smith Fort Collins	6th	712	250.00	0.450	112.50000	
177	Story, Jayda Market Swine	Justin & Katie Story Fort Collins	6th	730	225.00	0.450	101.25000	
1 1/8	Gazdik, Reece Market Swine	Sagebrush Riders 4-H Club Lydia & Nate Gazdik Berthoud	7th	793	231.00	0.450	103.95000	
1 1/9	Kisner, Colby Market Swine	Cinch 'Em Up 4-H Club Tanya & Derek Kisner Wellington	7th	635	225.00	0.450	101.25000	
1 120	Hardle, Drake Market Swine	Spirit of the Poudre 4-H Club Stephanie & Trev Hardle Wellington	7th	632	237.00	0.450	106.65000	
181	Sewczak, Deegan Market Swine	Berthoud Highlanders 4-H Club Amy & Pete Sewczak Berthoud	8th	813	259.00	0.450	116.55000	
1 127	Golden, Claire Market Swine	Livermore Wranglers 4-H Club Josh & Jenna Golden Livermore	8th	686	256.00	0.450	115.20000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
183	Moore, Zachary Market Swine	Rocky Ridge 4-H Club Daniel Moore Wellington	9th	724	237.00	0.450	106.65000	
184	Gazdik, Kelson Market Swine	Sagebrush Riders 4-H Club Lydia & Nate Gazdik Berthoud	9th	789	274.00	0.450	123.30000	
185	Barker, Trinton Market Swine	Owl Canyon Critters 4-H Club Ashlin & David Barker Fort Collins	9th	612	241.00	0.450	108.45000	
186	Whitman, Wyatt Market Swine	North Forty 4-H Club Derek & Jessica Whitman Carr	10th	728	255.00	0.450	114.75000	
187	Sutter, McKinsey Market Swine	Sagebrush Riders 4-H Club Katie & Bill Sutter Berthoud	10th	778	241.00	0.450	108.45000	
188	Kauffman, Madilyn Market Swine	Sagebrush Riders 4-H Club Kristina & Jeff Kauffman Windsor	10th	772	262.00	0.450	117.90000	
189	Riedlinger, Lexie Market Steer - Show Class 4	North Forty 4-H Club Karen & Reid Riedlinger Wellington	3rd	48	1204.00	1.350	1625.40000	
190	Deschler, Lance Market Steer - Show Class 3	North Forty 4-H Club Jamie & Adam Deschler Wellington	3rd	61	1178.00	1.350	1590.30000	
191	Kraft, Mataya Market Heifer - Show Class 2	North Forty 4-H Club Jason & Cheri Kraft Fort Collins	3rd	16	1180.00	1.350	1593.00000	
192	Enns, Avery Market Heifer - Show Class 3	North Forty 4-H Club Kellie & Mark Enns Nunn	3rd	24	1231.00	1.350	1661.85000	
193	Engelhardt, Owen Market Steer - Show Class 10	Twin Mounds 4-H Club Dana Engelhardt Loveland	3rd	55	1487.00	1.350	1957.50000	
194	Texeira, Hailey Market Steer - Show Class 9	Desperados 4-H Club Tyler & Christy Texeira Fort Collins	3rd	38	1424.00	1.350	1922.40000	
195	Santistevan, Matthew Market Steer - Show Class 7	High Altitude 4-H Club Darren & Vanessa Santistevan Fort Collins	4th	44	1329.00	1.350	1794.15000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price /	Floor Price	Buyers
1 146	Kraft, Clay Market Steer - Show Class 8	North Forty 4-H Club Cheri & Jason Kraft Fort Collins	4th	19	1377.00	1.350	1858.95000	
197	Yarber, John Market Steer - Show Class 4	Friendly Few 4-H Club Robin & Lonnie Yarber Fort Collins	5th	5	1209.00	1.350	1632.15000	
198	Robbins, Taytum Market Steer - Show Class 1	Twin Mounds 4-H Club Tyler & Veronica Robbins Windsor	5th	56	1142.00	1.350	1541.70000	
199	Brittan, Madison Market Steer - Show Class 2	Berthoud Highlanders 4-H Club Cami & Lance Brittan Severance	6th	40	1161.00	1.350	1567.35000	
200	Jones, Toby Market Steer - Show Class 8	Sagebrush Riders 4-H Club Kevin & Jessica Jones Berthoud	6th	82	1374.00	1.350	1854.90000	
201	Bernhardt, Jaden Market Steer - Show Class 8	Friendly Few 4-H Club Amy & Matt Bernhardt Berthoud	7th	6	1371.00	1.350	1850.85000	
202	Johnson, Rebekah Market Lambs - Show Class 15	Owl Canyon Critters 4-H Club Robin & Craig Johnson Wellington	4th	343	160.00	0.800	128.00000	
203	Stirewalt, Ella Market Lambs - Show Class 10	Sagebrush Riders 4-H Club Paula & Patrick Stirewalt Platteville	5th	255	137.00	0.800	109.60000	
204	Dawdy, Brooklyn Market Lambs - Show Class 8	Creative Hands & Hearts 4-H Club Elisa & Russell Dawdy Fort Collins	5th	256	133.00	0.800	106.40000	
205	Thode, Kizzy Market Lambs - Show Class 11	Livermore Wranglers 4-H Club Zachary & Sherryl Thode Livermore	6th	266	147.00	0.800	117.60000	
1 706	Blum, Selah Market Lambs - Show Class 3	North Forty 4-H Club Andrew & Judi Blum Fort Collins	6th	346	116.00	0.800	92.80000	
7017	Blum, Micah Market Lambs - Show Class 7	North Forty 4-H Club Judi Blum Fort Collins	6th	350	130.00	0.800	104.00000	
7770	Richardson, Emily Market Lambs - Show Class 5	Owl Canyon Critters 4-H Club Amber & Jeff Richardson Wellington	7th	285	122.00	0.800	97.60000	

Sale #	Exhibitor / Class / Awards	Club / Parents / City	Placings	Animal ID(s)	Check-in Weight	Floor Price / lb	Floor Price	Buyers
709	Hardley Audrianna	Buckeye Buck 'n Ears 4-H Club Angie & William Hardley Wellington	7th	363	110.00	0.800	88.00000	
210	Starck, Sawyer Market Lambs - Show Class 3	Sagebrush Riders 4-H Club Brian & Lorretta Starck LONGMONT	7th	317	118.00	0.800	94.40000	
1 211 1	Iracy Levi	Owl Canyon Vaqueros 4-H Club April & Eric Tracy Wellington	9th	258	132.00	0.800	105.60000	
1 /1/ 1	Ledingham Makavia	Wagon Wheel 4-H Club Alyssa & John Ledingham Carr	10th	268	148.00	0.800	118.40000	

Beth Jean Johnson February 23, 1949 – July 13, 2021

Beth Johnson was born In Loveland, CO to Harold and Beulah Ferguson. Beth had two sisters. Beth married Rod Johnson December 21, 1969. The couple had two sons Bryce and Blair (Tammy). Beth started riding horses at the age of three and spent many summer weekends attending nearby junior rodeos. The Johnson family was very involved in 4-H she and Rod were the club leaders of the Twin Mounds 4-H Club for 41 years. They served on the Larimer County 4-H Foundation and served as co-chairs of the annual carnival. Beth and Rod were the Grand Marshals for the Larimer County Fair Parade in 2017. The whole Johnson family served many years on the Larimer County Jr. Livestock Sale Committee. A memorial scholarship fund has been established through the Larimer County 4-H Foundation to go to a youth moving into post high school education.

Lorine Nettie Lindholm April 22, 1925 – January 3, 2022

Lorine Lindholm was born in Norwich, KS. She was a graduate from Kansas State University College of Agriculture and Applied Science with a degree in Dietetics. She met Howard Lindholm through 4-H activities and they were married in 1948. The couple had four children Charlotte, Wayne (Linda), Dale (Connie) and Marcia (Russ Rhoads). Lorine and Howard were 4-H leaders of the Laporte Cowpunchers for 15 years. The Rhoads family have and still are very active in the Larimer County 4-H programs.

Carl Robert Maxey March 3, 1960 – October 22, 2021

Carl Maxey was born in Greeley, CO to Loren and Katherine Maxey. Carl had two sisters and was a lifelong Fort Collins resident. Carl married Marla Joy Van Cleave on May 8, 1993. The couple have two sons Clayton (Corey) and Caleb, a son Brandon preceded Carl in death. Carl was extremely excited about his first grandchild Grayson born in July 2021. Carl was a graduate of Poudre High School and CSU. Carl was a successful businessman and a partner with his parents Loren and Kathy in Maxey Companies in the trailer, manufacturing, sales, trucking, transportation and farming industries. In 2014 Carl joined his company with MGS, Inc from Denver, PA. Carl was a Partner, Vice President and Regional General Manager for MGS, Inc. He and Marla operate Maxey Land and Livestock. Carl was a member of the Larimer County Jr. Livestock Sale Committee for many years and was served as Treasurer. A memorial scholarship fund has been established through the Larimer County 4-H Foundation to go to a youth enrolled in either an agricultural program or engineering.

Jennifer Eve Diehl June 18, 1970 - May 12, 2022

Jennifer Diehl (Carlson) was born in Wilmur, MN until 1971 when the family moved to Estes Park then to Fort Collins in 1979. Jennifer attended IBMC to become a medical assistant and continued working as a nurse until her time of death. She married Leroy Diehl in 1999 and relocated to Carr. She and Leroy had two daughters Bailey (Jordan) and Brady. The Diehl family have been very active in the Larimer County 4-H Livestock programs.

Ronald Benedict McCrimmon Sr. March 13, 1939 – May 10, 2022

Ronald McCrimmon was born in Philadelphia, PA and was the 6th our of 7 sons. Ron joined the Marine Corps at the age of 16 with his parents signing consent forms. After his 6-year stint he, his parents, and siblings went to Casper, WY to visit his brothers that were living there. It is here he met his future wife Sharon Miller and they eloped in Harrison, NE on Sept. 12, 1959. After living in many states, the family ended up in Loveland in 1983. He and their 4 sons started We Care Lawn Care, LLC and Mac Equipment, Inc. both very successful businesses. Ron acted as an integral business advisor for them and was the tie-breaker vote on any matters necessary. He is survived by his wife Sharon and sons Ronald Jr. (Betsy), Christopher (Erin), John (Shelley), and Clifton (Heather) and many grandchildren some of which have and still are participating in the Larimer County 4-H Program.

Nancy J. Graham March 4, 1946 – May 31, 2022

Nancy Graham was born in Greeley, CO to Frederick and Lydia Schmer. She and her older brother grew up on the family farm often referred to as the "big yellow farmhouse" at I-25 and Hwy 34. She graduated from Loveland High School and attended CSU. She then married and spent 21 years in California before returning to Loveland in 1988. She worked at CSU as an administrative assistant for the Molecular, Cellular & Integrative Neurosciences program until her retirement in 2016. She was a Larimer County 4-H leader for over 40 years. Nancy will be remembered as "Rodeo Queen Mom". She worked with many young ladies that wanted to become a Rodeo Queen at the county, state, and national levels. She was a guiding for in many of their lives. She also helped with many Horse Bowl and Hippology Contests throughout her time as a 4-H Leader Nancy was a fixture in the Horse Office during the County Fair. Her smile and her helping hand were so appreciated. She is survived by two daughters Tane' Leach (Steve) and Tara Rowe (Brad). Both daughters and grandchildren are involved in Larimer County 4-H.

Randal Lee Stephens September 1, 1955 - July 24th, 2022

Randal Lee Stephens passed at home surrounded by family on Sunday July 24th, 2022, after fighting cancer for almost 3 years. He was born to Ron and Shirley Stephens on September 1, 1955, in Freeport, Illinois. Over the past year he managed to fulfill all the major adventures on his bucket list. Along with his wife, Suzee, he took his daughter, Mindy, and granddaughter, Scarlett, to Disney World. He cruised to Alaska, did a Mexican Riviera cruise where he caught an 8-foot marlin then took a trip to Germany to see his son, Ron, and partner Matt, followed by a stop in Pennsylvania to find Mindy and Scarlett. In June he did a Caribbean cruise with Mindy and Scarlett. So much fun and great memories for all.

Randy had a successful career as a farrier where he made lots of friends. He took great pride in caring for his client's horses. He also spent many years involved with Larimer County Fair and Rodeo. He loved helping all the kids and equally loved putting on a great rodeo. His entire life he enjoyed being outdoors in nature and viewing wildlife. Many evenings were spent looking for deer, elk, moose, et. Seeing a bear in Alaska catching fish was one of his greatest thrills. And seeing bald eagles swooping down was the highlight of his Alaska adventure.

Randy is survived by his wife, Susan, Daughter, Mindy Jones, son Ron Stephens (Matt Kranz), granddaughter Scarlett Jones, sister Cheryl Hughes (Jim) and many family members and friends. He is preceded in death by his father, Ron Stephens, mother Shirley Stephens, and grandparents.